Modul B23 - Notenstand vom 24.09.2018
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1. Note 2. Note 2.PZ Gesamtnote
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n.b. = nicht bestanden
n.t. = nicht teilgenommen
/. = entfallt

Prifungszeitraum 1, 1. Klausur:

25
21
20
15
0 10
7
5 6
oo L] dofleo
1,0 1,3/ 1,7 20 2,3/2,7 3,033 3,7 40 50 nit.
Anzahl 5 2 2 10 3 7 3 2 3 0 2t
Prifungszeitraum 1, 2. Klausur
25 23
20
15
10 10 11
10
| ] 4
512 2 2
o0 % 0O ] 0 0pgo
1,0 1,3/ 1,7 20 2,3/2,7 3,0 3,3 3,7 40 50 nit.
Anzahl 2 0 2 10 10 4 11 0 0 2 0 23
Semesterergebnis
25
20
20
15
11
10 5
5/, 8 % —ﬁ 4 g5 3 =
gl
condl dondflo
1,0 1,3 1,7 20 2,3 2,7 3,0 3,3 3,7 40 50 n.b.
Anzahl 2 3 7 11 4 3 3 1 4 0 20




